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2 a. Develop the code of Line Dra
the line end points are l0) and (30, 18).

b. Write circle dra
algorithm by

3a
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Also illustrate the algorithm
(10 Marks)
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Explain trvo for test of a polygon. (10 Marks)
of Scanfi for filling for filling polygon with
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coordinates and perspective projection
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algorithm. (10 Marks)

Module-S
event driven input with suitable examples.

modes with neat diagram.

8a.

b.
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9 a. Explain any
b. Explain the

OR
a. Explain Animating Interactive Program.
b. Discuss Logical Device and Hierarchical Menus.
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Note: Answer any FIVE full questions, cho\slng ONE fall question fro\m each module.

a. Define orthogonal projections.
volume in 3D.

Module-4
Explainrfhifing window and orthogonal projection view

b. Explain thc thrce dimensional view pipclinc.
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Specify the situations when
Simulate a single server
ii) Probability that a
time Interarrival time and

a.

b.

a.

b.

to wait iii) Average time iv) Average system
time distribution are as follows

3

4

ofa to be observed while applying simulation
(10 Marks)

stop beginning at 6.45am and continuing until

distributed) between 7
dbes not know the schedule, but amives randomly (uniformly
and 7.30am every morning. What is the probability that the

passenger waits for 5 minutes for a bus? (10 Marks)
(04 Marks)b. Illustrate with an , the Kendall's queuing notation.

c. Given the customers m the system at time't', how do you compute the long, run
time average of customers in system and in queue? Justify with an example.
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I of}

(06 Marks)

(10 Marks)

example for each. (10 Marks)
of arrival event and departure

(10 Marks)

Sixth Semester B.E. Degree Examination, Jan./Feb .2023
System Modeling and Simulation

Interarrival time (min) 1 3 5

Probability 0.5 0.3 0.2
RandomNumbers 8, 5, 2, l, 0, 9, 6,7,5

Service time (min)
Probability
Random Numbers

1234
0.30 0 3s 0. r5 0.20
21, 10. 94, 76, 43, 19, 69, 17, 86, 38
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with respect to output analysis with
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lntroduction to Data Stru and Algorithm
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Note: Answer any FIVE full questions, ONE full questionfram each
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1 a. Write an algorithnl

b. Write a program to

2
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5 a. Explain
b. Write a

6 a. Explain push( ) and

b. Write a pro

chart for

llowing pyramid

module.

a quadratic equation.
(10 Marks)

c. Write a pro find the factorial of

,s

a

4a
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23 4
(05 Marks)

number using recursive function. (05 Marks)

et,
(10 Marks)
(05 Marks)

(05 Marks)

ii) Omega.
(10 Marks)
(10 Marks)

(10 Marks)
display the

(05 Marks)
(05 Marks)
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types of list with suitable logical diagram. (10 Marks)
(10 Marks)to implement*B using an array.

OR
pop( ) operation of stack with the help of algorithm and logical diagram.

(10 Marks)
a node from singly linked list.

I of2

(10 Marks)

tmdrng roots ot

using an array:

i) While loop ii) For loop.
b. Write a program to swap two integers x and y using function call lcall by
c. Write a program using structure to store and display:

i) Name ii) Age iii) Salary of 03 employees.
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Modqle-4
What is a circular queue? Explain with an example.
Explain insert and delete operation in linked list
Write a program to i) Insert ii) Delete and

list

8 a. Explain the following binary tree

18C5652

(05 Marks)
of a queue. (05 Marks)

in a binary search using linked
(10 Marks)

a,

b
c,

examples:
Perfect binary
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iv) Btilanced binary,
(10 Marks)

i) Strictly binary ii) Complete

b. Perform the following

i) Insert (Q, 6) ii)

9 a. Explain the fo graph
iii) Adjacency

b. Write a pro

iiD

data structure: i) Adjacency

implement bucket sort technique

(Q7) v) Delete Q. (10 Marks)

matrix ii) Path matrix
(10 Marks)

to sort random integers.
(10 Marks)

and logical diagram.
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Time: 3 hrs.

Note: Answer any FIVE full

1 a. Define operating system.

b. Explain the
i) Process
ii) Memory

Sixth Semester B.E. Degree Bxa
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explain the working of a VM
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c. Define a virfual

2 a. Explain the of a operating s a neat diagram.

b. Compare gramming and systems.

c. What calls? Briefly poin types.

3 a. With neat diagram, explain the t states of a

th a neat diagram,1

b. Define IPC (Inter Proce
implementation of

4 a. Discuss
b. Discuss
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the logical

Marks)sing system.
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Module-3
's solution for critical section problem and prove that the
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)

lh*+:Eir:il

d *' 
"."j

"w!'!$e
if

,$

5 a. Illustrate with examPle

mutual exclusion
b. Show how semaphore solution to reader - writer problem.
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6 a. What is deadlock? Explain the necessary conditions for deadlock situation to arise in a

system.
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